Bestand Querschnitt A-A Planung Querschnitt A-A

G

W T,

L0 595 L 33
vorh. Fahrbahn 1 vorh. Gehweg
L2 | 2,00 L 1.00-2,00

[ S

| {
gepl. Fahrbahn P

/3 =

L
1

gepl. Gehweg gepl. Gehweg

vorh. Gehweg
1.00-160

———

JEOREN

, Grundsfii:ksgrenze
“Grundstiicksgrenze

,Grundsﬁicksgrenze
“arundstiicksgrenze

ClolO

o
U 1 J

]

|
L 500 /||’ o 1000 |
' EN =
A
NN
“‘G:
&
o
\
@'\T
&

&

& —=KbInstrale

W O
D
W
=

I —

N
(O o 3
KN

I &

-
2, %

Siirther Hadptstralie A|’
9

[ 330 33035
| F— | —

Sdrther Hauptstralie

s

e S A 0 7
B o SN 5 Ml o V5
- =1 (B2 8 oG8
w L 5,00 L 50 § 4,00 & < »“v" =
® Slrther HauptstraRe Ast:; - p ® o = ©
A E B \___9/
........ = e — e ) b 7
:Eg n el S /
= ° ) 2 432,75 275 }

N
@2

Y|
l\\ Fquj/
=5

2
=l
2y 36 3
7
i I
v + Y/ +
>, S = 70 7
% > EZ Z S 7 % L/?
= S
[ <. o'c 2
4 — é‘%’% g_ 2 =
3 =
// | 77 M1:500

Anlage 6

1030WS02LP0O7i4




